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<10 -

Complete the division number sentences. Draw pictures grouping or sharing
to help you if you need to.

60 - 10 = LO =10 = 20+ 10 =

50 + 10 = 90 + 10 = 100 + 10

* =10=3 What was the number that we started with?

Explain or show how you know.

Word Problem

| shared my chocolates out between L people. Each person got 10 chocolates.

How many chocolates did | start with?
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Three children describe the picture shown.

A B C
20 10 = 2 20+-2-=10 0 +2 =20

Who do you agree with? Expla'm whg,

| agree with because. . .

Can Yyou think of any of number sentences that could describe the chtwe?

Hint: Try to use the x and + signs!

Can Yyou work out the answer to each division number sentence?

Use these numbers to work out the answer to the last question..

P +10- A

20+ 10 - @

Areo-__




